
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Gruplandırma ile 

bölme 
Ritmik sayma ile 

bölme 

20÷5= 

 

20  5 
 
 

 

         

          

           

         

20-5=15 
….-….=…. 
….-….=…. 
….-….=…. 

 
 

  20 sayısının 
içinde …. tane 5 

vardır. 

15÷3= 

 

15  3 
 

 

 

        

        

         

15-3=12 
….-….=…. 
….-….=…. 
….-….=…. 
….-….=…. 

 

 
 

  15 sayısının 
içinde …. tane 3 

vardır. 

12÷4= 

 

12  4 
 

 

 

12-4=8 
….-….=…. 
….-….=…. 

 

 
 

  12 sayısının 
içinde …. tane 4 

vardır. 



 

 



 



 

 

 


